BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis
Lesson 1
Activity 1 - Class Discussion
What can we know by reviewing a company’s income statement?
_______________________________________________
_______________________________________________
_______________________________________________​​​ 
_______________________________________________

_______________________________________________

_______________________________________________
_______________________________________________

_______________________________________________

_______________________________________________
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BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 1
Activity 2 - Class Discussion
A company’s financial statements consist of the income statement and statement of financial position.  Compare these two statements.
	
	Income statement
	Statement of financial position

	Purpose
	
	

	Time frame
	
	

	Major item
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BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 2
Activity 1 – Discussion
Your uncle has then provided you with the income statement and statement of financial position of his business for the last two financial years for your viewing.  


[image: image3.emf]20X5 20X4

 $'000  $'000

      1,850       1,560

        (935)         (753)

         915          807

Distribution         (135)         (108)

Selling and marketing         (182)         (161)

General and administrative         (174)         (155)

         424          383

          (26)           (24)

         398          359

          (66)           (56)

         332          303

ABC Ltd

Income Statement

For the year ended 31 December

Profit before tax

Income tax expenses

Profit after tax

Turnover

Cost of sales

Gross profit

Expenses

Operating profit

Interest expenses
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 $'000  $'000

Non-current assets

Equipments 3,200        3,000       

Current assets

Inventories 212           189          

Trade receivables 304           286          

Cash and bank 118           225          

634           700          

Current liabilities

Trade payables 285           250          

Tax payable 66             56            

351           306          

Total assets less current liabilities 3,483        3,394       

Financed by:

Share capital 2,200        2,200       

Retained earnings 786           454          

2,986        2,654       

Non-current liabilities

Long-term loan 497           740          

3,483        3,394       

ABC Ltd

Statement of Financial Position

As at 31 December
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Using the four aspects of financial statement analysis, what can you find out from the information provided on the financial statements?

	Profitability:

	Liquidity and Efficiency:

	Solvency:

	Market Prospects:
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BAFS (Compulsory Part) – 

Introduction to Accounting
Basic Ratio Analysis

Lesson 2
Activity 2 – Group discussion
Divided into three groups which represent the 1. internal management; 2. lenders; 3. shareholders (investors) of a company and discuss how the financial ratios can help you to make business decisions?
	Internal Management:

	

	

	

	Lenders:

	

	

	

	Shareholders (Investors):

	

	

	


BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 3
Activity 1 - Calculation of Gross Profit Margin 
Given the following information, calculate and comment the gross profit margin for the years of 20X4 and 20X5.
	
	20X4
	20X5

	Sales
	$100,000
	$120,000

	Cost of goods sold
	$54,000
	$62,000

	Gross profit
	     (        )
	(        )

	Gross profit margin
	 (        )
	(        )


Comments:
______________________________________________
______________________________________________
______________________________________________​​​ 
______________________________________________

______________________________________________

______________________________________________
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BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 3
Activity 2 - Calculation of Net Profit Margin 
Given the following information, calculate and comment the net profit margin for the years of 20X4 and 20X5.

	
	20X4
	20X5

	Sales
	$100,000
	$120,000

	Cost of goods sold
	$54,000
	$62,000

	Gross profit
	$46,000
	$58,000

	Operating expenses
	$33,000
	$44,000

	Net profit
	(        )
	(        )

	Net profit margin
	(        )
	(        )


Comments:
______________________________________________
______________________________________________
______________________________________________​​​ 
______________________________________________

______________________________________________

______________________________________________
BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 4
Activity 1 – Class Discussion


[image: image7.emf]What are the differences between 

gross profit margin and net profit 

margin?


______________________________________________
______________________________________________
______________________________________________​​​ 
______________________________________________

______________________________________________

______________________________________________
______________________________________________

______________________________________________

BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 4
 Activity 2 – Calculation of Profitability
Refer to the financial statements of XYZ Ltd, calculate and comment its profitability ratios.


[image: image8.emf]20X5 20X4

 $'000  $'000

          3,310           2,952

        (1,840)         (1,632)

          1,470           1,320

Distribution            (288)            (225)

Selling and marketing            (349)            (293)

General and administrative            (227)            (187)

             606              615

           (105)              (87)

             501              528

             (92)              (96)

             409              432

XYZ Ltd

Income Statement

For the year ended 31 December

Profit before tax

Income tax expenses

Profit after tax

Sales

Cost of sales

Gross profit

Expenses

Operating profit

Interest expenses
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 $'000  $'000

Non-current assets

Equipments 5,500         5,220        

Current assets

Inventories 331            292           

Trade receivables 504            463           

Cash and bank 222            108           

1,057         863           

Current liabilities

Trade payables 396            367           

Tax payable 92              96             

488            463           

Total assets less current liabilities 6,069         5,620        

Financed by:

Share capital 4,000         4,000        

Retained earnings 1,022         855           

5,022         4,855        

Non-current liabilities

Long-term loan 1,047         765           

6,069         5,620        

XYZ Ltd

Statement of Financial Position

As at 31 December


[image: image10.jpg]



	Calculations
	Comments

	Gross Profit Margin

20X5:

20X4:
	

	Net Profit Margin

20X5:

20X4:
	

	Return on Capital Employed

20X5:

20X4:
	


[image: image11.emf]
BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 5
Activity 1 - Class Discussion 
Companies should have a positive amount of working capital, i.e. current assets are greater than current liabilities.

What happens if there were a negative working capital (i.e. current assets < current liabilities)?

_______________________________________________
_______________________________________________
_______________________________________________​​​ 
_______________________________________________

_______________________________________________

_______________________________________________
_______________________________________________

_______________________________________________

_______________________________________________
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BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 5
Activity 2 – Calculation of Working Capital
Refer to the financial statements of XYZ Ltd, calculate its working capital.


[image: image13.emf]20X5 20X4

 $'000  $'000

          3,310           2,952

        (1,840)         (1,632)

          1,470           1,320

Distribution            (288)            (225)

Selling and marketing            (349)            (293)

General and administrative            (227)            (187)

             606              615

           (105)              (87)

             501              528

             (92)              (96)

             409              432

XYZ Ltd

Income Statement

For the year ended 31 December

Profit before tax

Income tax expenses

Profit after tax

Sales

Cost of sales

Gross profit

Expenses

Operating profit

Interest expenses
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 $'000  $'000

Non-current assets

Equipments 5,500         5,220        

Current assets

Inventories 331            292           

Trade receivables 504            463           

Cash and bank 222            108           

1,057         863           

Current liabilities

Trade payables 396            367           

Tax payable 92              96             

488            463           

Total assets less current liabilities 6,069         5,620        

Financed by:

Share capital 4,000         4,000        

Retained earnings 1,022         855           

5,022         4,855        

Non-current liabilities

Long-term loan 1,047         765           

6,069         5,620        

XYZ Ltd

Statement of Financial Position

As at 31 December


	Working Capital of XYZ Ltd

	20X5:



	20X4:




BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 5
Activity 3 – Group Discussion
How a conservative working capital policy lowers profitability and risk?

_______________________________________________
_______________________________________________
_______________________________________________​​​ 
_______________________________________________

_______________________________________________

_______________________________________________
_______________________________________________

_______________________________________________

_______________________________________________
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BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 6
Activity 1 - Class Discussion 

[image: image17.emf]Can you give some other examples of liquid 

assets?

7


_______________________________________________
_______________________________________________
_______________________________________________​​​ 
_______________________________________________

_______________________________________________

_______________________________________________
_______________________________________________

_______________________________________________

_______________________________________________

BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 6
 Activity 2 – Group Discussion
How can we know if a company has a liquidity problem? 
_______________________________________________
_______________________________________________
_______________________________________________​​​ 
_______________________________________________

_______________________________________________

_______________________________________________
_______________________________________________

_______________________________________________

_______________________________________________
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BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 7
Activity 1 - Calculation of Current Ratio

Given the following information, calculate and comment the current ratio for the years of 20X4 and 20X5.


[image: image19.emf]20X4 20X5

Inventory $163,000 $116,000

Accounts 

receivable

$146,000 $162,000

Cash and bank $23,000 $44,000

Accounts payable $155,000 $171,000


	Calculations
	Comments

	Current ratio

20X4:
20X5:
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BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 7
Activity 2 - Calculation of Acid Test Ratio

Given the following information, calculate the acid test ratio for the years of 20X4 and 20X5 and comment the ratio by comparing with the current ratio calculated in activity 1.


[image: image21.emf]20X4 20X5

Inventory $163,000 $116,000

Accounts receivable $146,000 $162,000

Cash and bank $23,000 $44,000

Accounts payable $155,000 $171,000


	Current ratio
	Acid test ratio
	Comments

	20X4:
20X5:


	20X4:
20X5:


	


BAFS (Compulsory Part) – Introduction to Accounting
BAFS (Compulsory Part) – Introduction to Accounting
Basic Ratio Analysis

Lesson 8
Activity 1 – Case Study
Your uncle’s business is the supplier of DEF Ltd.  Your uncle is now considering whether it is appropriate to sell goods to DEF Ltd on credit or COD (Cash on Delivery). (Demanding COD might cause DEF Ltd buy less from your uncle’s company.)

Use accounting ratios to help your uncle to make decision

[image: image22.emf]     (3,380)      (3,410)

      1,840       2,120

Distribution         (522)         (482)

Selling and marketing         (414)         (398)

General and administrative         (331)         (303)

         573          937

        (108)           (66)

         465          871

          (65)           (42)

         400          829

Profit before tax

Income tax expenses

Profit after tax

Cost of sales

Gross profit

Expenses

Operating profit

Interest expenses
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 $'000  $'000

Non-current assets

Equipments 8,250         7,273        

Current assets

Inventories 338            284           

Trade receivables 536            406           

Cash and bank 34              128           

908            818           

Current liabilities

Trade payables 782            434           

Tax payable 65              42             

847            476           

Total assets less current liabilities 8,311         7,615        

Financed by:

Share capital 5,500         5,500        

Retained earnings 1,688         1,288        

7,188         6,788        

Non-current liabilities

Long-term loan 1,123         827           

8,311         7,615        

DEF Ltd

Statement of Financial Position

As at 31 December
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	20X5 Ratio
	Calculation
	Result

	Gross Profit Margin
	
	

	Net Profit Margin
	
	

	ROCE
	
	

	Current Ratio
	
	

	Acid Test Ratio
	
	


	20X4 Ratio
	Calculation
	Result

	Gross Profit Margin
	
	

	Net Profit Margin
	
	

	ROCE
	
	

	Current Ratio
	
	

	Acid Test Ratio
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	Ratio
	Comments

	Gross Profit Margin
	

	Net Profit Margin
	

	ROCE
	

	Current Ratio
	

	Acid Test Ratio
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Suggestion
______________________________________________
______________________________________________
______________________________________________​​​ 
______________________________________________

______________________________________________

______________________________________________
______________________________________________

______________________________________________

______________________________________________
______________________________________________
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工作表1

		XYZ Ltd												XYZ Ltd

		Income Statement												Statement of Financial Position

		For the year ended 31 December												As at 31 December

						20X5				20X4								20X5				20X4

						$'000				$'000								$'000				$'000

		Sales				3,310				2,952				Non-current assets

		Cost of sales				(1,840)				(1,632)						Equipments		5,500				5,220

		Gross profit				1,470				1,320

		Expenses												Current assets

				Distribution		(288)				(225)						Inventories		331				292

				Selling and marketing		(349)				(293)						Trade receivables		504				463

				General and administrative		(227)				(187)						Cash and bank		222				108

		Operating profit				606				615								1,057				863

		Interest expenses				(105)				(87)				Current liabilities

		Profit before tax				501				528						Trade payables		396				367

		Income tax expenses				(92)				(96)						Tax payable		92				96

		Profit after tax				409				432								488				463



														Total assets less current liabilities				6,069				5,620



														Financed by:

																Share capital		4,000				4,000

																Retained earnings		1,022				855

																		5,022				4,855

														Non-current liabilities

																Long-term loan		1,047				765

																		6,069				5,620








工作表1

		XYZ Ltd												XYZ Ltd

		Income Statement												Statement of Financial Position

		For the year ended 31 December												As at 31 December

						20X5				20X4								20X5				20X4

						$'000				$'000								$'000				$'000

		Sales				3,310				2,952				Non-current assets

		Cost of sales				(1,840)				(1,632)						Equipments		5,500				5,220

		Gross profit				1,470				1,320

		Expenses												Current assets

				Distribution		(288)				(225)						Inventories		331				292

				Selling and marketing		(349)				(293)						Trade receivables		504				463

				General and administrative		(227)				(187)						Cash and bank		222				108

		Operating profit				606				615								1,057				863

		Interest expenses				(105)				(87)				Current liabilities

		Profit before tax				501				528						Trade payables		396				367

		Income tax expenses				(92)				(96)						Tax payable		92				96

		Profit after tax				409				432								488				463



														Total assets less current liabilities				6,069				5,620



														Financed by:

																Share capital		4,000				4,000

																Retained earnings		1,022				855

																		5,022				4,855

														Non-current liabilities

																Long-term loan		1,047				765

																		6,069				5,620








工作表1

		DEF Ltd												DEF Ltd

		Income Statement												Statement of Financial Position

		For the year ended 31 December												As at 31 December

						20X5				20X4								20X5				20X4

						$'000				$'000								$'000				$'000

		Sales				5,220				5,530				Non-current assets

		Cost of sales				(3,380)				(3,410)						Equipments		8,250				7,273

		Gross profit				1,840				2,120

		Expenses												Current assets

				Distribution		(522)				(482)						Inventories		338				284

				Selling and marketing		(414)				(398)						Trade receivables		536				406

				General and administrative		(331)				(303)						Cash and bank		34				128

		Operating profit				573				937								908				818

		Interest expenses				(108)				(66)				Current liabilities

		Profit before tax				465				871						Trade payables		782				434

		Income tax expenses				(65)				(42)						Tax payable		65				42

		Profit after tax				400				829								847				476



														Total assets less current liabilities				8,311				7,615



														Financed by:

																Share capital		5,500				5,500

																Retained earnings		1,688				1,288

																		7,188				6,788

														Non-current liabilities

																Long-term loan		1,123				827

																		8,311				7,615








工作表1

		DEF Ltd												DEF Ltd

		Income Statement												Statement of Financial Position

		For the year ended 31 December												As at 31 December

						20X5				20X4								20X5				20X4

						$'000				$'000								$'000				$'000

		Sales				5,220				5,530				Non-current assets

		Cost of sales				(3,380)				(3,410)						Equipments		8,250				7,273

		Gross profit				1,840				2,120

		Expenses												Current assets

				Distribution		(522)				(482)						Inventories		338				284

				Selling and marketing		(414)				(398)						Trade receivables		536				406

				General and administrative		(331)				(303)						Cash and bank		34				128

		Operating profit				573				937								908				818

		Interest expenses				(108)				(66)				Current liabilities

		Profit before tax				465				871						Trade payables		782				434

		Income tax expenses				(65)				(42)						Tax payable		65				42

		Profit after tax				400				829								847				476



														Total assets less current liabilities				8,311				7,615



														Financed by:

																Share capital		5,500				5,500

																Retained earnings		1,688				1,288

																		7,188				6,788

														Non-current liabilities

																Long-term loan		1,123				827

																		8,311				7,615








工作表1

		XYZ Ltd												XYZ Ltd

		Income Statement												Statement of Financial Position

		For the year ended 31 December												As at 31 December

						20X5				20X4								20X5				20X4

						$'000				$'000								$'000				$'000

		Sales				3,310				2,952				Non-current assets

		Cost of sales				(1,840)				(1,632)						Equipments		5,500				5,220

		Gross profit				1,470				1,320

		Expenses												Current assets

				Distribution		(288)				(225)						Inventories		331				292

				Selling and marketing		(349)				(293)						Trade receivables		504				463

				General and administrative		(227)				(187)						Cash and bank		222				108

		Operating profit				606				615								1,057				863

		Interest expenses				(105)				(87)				Current liabilities

		Profit before tax				501				528						Trade payables		396				367

		Income tax expenses				(92)				(96)						Tax payable		92				96

		Profit after tax				409				432								488				463



														Total assets less current liabilities				6,069				5,620



														Financed by:

																Share capital		4,000				4,000

																Retained earnings		1,022				855

																		5,022				4,855

														Non-current liabilities

																Long-term loan		1,047				765

																		6,069				5,620












What are the differences between gross profit margin and net profit margin?





Teacher starts with a discussion to recap students’ understanding of gross profit and net profit.

Students are invited to present their ideas.
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				20X4		20X5

		Inventory		$163,000		$116,000

		Accounts receivable		$146,000		$162,000

		Cash and bank		$23,000		$44,000

		Accounts payable		$155,000		$171,000







Teacher asks students to complete the calculation and provide comments on the result.
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工作表1

		XYZ Ltd												XYZ Ltd

		Income Statement												Statement of Financial Position

		For the year ended 31 December												As at 31 December

						20X5				20X4								20X5				20X4

						$'000				$'000								$'000				$'000

		Sales				3,310				2,952				Non-current assets

		Cost of sales				(1,840)				(1,632)						Equipments		5,500				5,220

		Gross profit				1,470				1,320

		Expenses												Current assets

				Distribution		(288)				(225)						Inventories		331				292

				Selling and marketing		(349)				(293)						Trade receivables		504				463

				General and administrative		(227)				(187)						Cash and bank		222				108

		Operating profit				606				615								1,057				863

		Interest expenses				(105)				(87)				Current liabilities

		Profit before tax				501				528						Trade payables		396				367

		Income tax expenses				(92)				(96)						Tax payable		92				96

		Profit after tax				409				432								488				463



														Total assets less current liabilities				6,069				5,620



														Financed by:

																Share capital		4,000				4,000

																Retained earnings		1,022				855

																		5,022				4,855

														Non-current liabilities

																Long-term loan		1,047				765

																		6,069				5,620












Can you give some other examples of liquid assets?

7





Teacher invites students to share their answers.
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				20X4		20X5

		Inventory		$163,000		$116,000

		Accounts receivable		$146,000		$162,000

		Cash and bank		$23,000		$44,000

		Accounts payable		$155,000		$171,000









Teacher asks students to complete the calculation and provide comments on the result.
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